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—Jpleld ®=048 &4 S 4,600,0009 4,600
= 2,300
2 2,300
301 LB A 2,400 0 2,400
= 1,200
2 1,200
12 DB A3 2,400 0 2,400
O3 2E AL 2,400
—JRlely M2048l B4 B4 2,400,0009 2,400
= 1,200
2 1,200
HOIZ XesHEZ2S/HIIS) 2,335,013 1,975,649 359,364
3 27,750
2 2,307,263
MOl 2T L KRS 723,730 610,740 112,990
= 27,750
, 2 695,980
SO E &X 30,000 30,000 0
= 8,750
2 21,250
206 2| 30,000 30,000 0
= 8,750
2 21,250
01 HEb| 30,000 30,000 0
OZHI B E AL 17,500
—sorly 2018 & 17,500, 0002 7,500
= 8,750
2 8,750
Osorely 20ig &% 500, 000! %2574 2 12,500
SUBHHY 1S X 234,000 255, 100 A21,100
= 19,000
2 215,000
301 LBAI 234,000 250,000 16,000
= 19,000
2 215,000
12 JIEt2 A 234,000 250,000 16,000
OZHIBEAIY 19,000
~HHIEAH B3 19,000,000 19,000
= 19,000
OHBIZ4H ZAS(RA) 215,000,0002 215,000
MBI RS 2 el 225,480 124,740 100,740
201 LByl 29,600 58, 140 28,540
01 AtR2elt] 23,600 53,340 £29,740
OsragY| 11,100,000 11,100
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Oogdxt= 6,000,000& 6,000
02 2234l 6,000 4,800 1,200
O332=aZLHA 6,000,000& 6,000
202 O4Hl 2,880 3,600 AT720
01 =LA bl 2,880 3,600 AT20
OMgIl 28SI| 252 =& 2,880,000 2,880
206 M= dl 80,000 2,000 78,000
01 M=l 80,000 2,000 78,000
SA2 MDDl d2+HE 30,0003 *10004 2 3,000
O3 A &==Zdl 2| 3,000, 000& *9CH 27,000
OoMdIl &M =5 M 50,000,000& 50,000
301 Ypt8azg 1,000 1,000 0
12 JIEtE2 4= 1,000 1,000 0
oMy 29EI ANB4az 50,0003 *10H 500
O13 83 MERN SIBTAIEE dNE4Z
50,000& 10 500
307 QI2t0IA 42,000 42,000 0
05 GIZtRE = 42,000 42,000 0
Osals Mol AEHeld| 60,000& »700& 42,000
401 A EHIL 204 70,000 0 70,000
01 Al&HI 69,568 0 69,568
oMl =&E& Edt*A &X
39,568,000& 39,568
OXedl 2851 ZAIE Jtiilet X
6,000, 000& *5J4 4 30,000
03 AIZ=20bl 432 0 432
OoMgDl =88 iEst2A &X
40,000,000 *1.08/100 432
Hess =8 U3 234,250 200,900 33,350
201 LetEIH| 10,600 9,800 800
01 AtR22/Hl 10,600 9,800 800
Oget=gH| 9,700,000& 9,700
O=&tl 900,000& 900
206 M=l 7,650 8,100 A450
01 Mzl 7,650 8,100 2450
onMg=ss 22 =Hs 150, 0003 * 1704 2 2,550
oHgZds 82 =HE 100,000& * 1700 & 1,700
OHAHEX HE =HE 100, 000& *34 04 2 3,400
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301 LEtEAZ 126,000 113,000 13,000
12 JIEt2 43 126,000 113,000 13,000
ONgss =& = 703 =800, 000kg 56,000
ONgss =& ¥d= 100& +700, 000kg 70,000
401 AIEHIZ 2 90,000 70,000 20,000
01 Al&H| 89,460 69,460 20,000
OMegsszagsd 4X 49,460,000 49,460
OMesE dEd glE= 10,000, 000& 10,000
OHdIg&otE &xl 15,000, 0003 24 2~ 30,000
03 AIE20bI 540 540 0
ongssdagd 81 50,000,000 1.08/100 540
HOI2H™elAlE 1,611,283 1,364,909 246,374
HIIZ2XelAld 22| 1,521,283 1,274,909 246,374
101 el4H| 38,134 37,008 1,126
04 JIZtHZ2Z2 s+ 38,134 37,008 1,126
SSHIISHEE 22| Y 12,712
=Jl23 39,300 1% 240 9,432
— =54 39,3003 x1H 48 1,887
—40EE= 11,319,000 *12.3% 1,393
SLRHIISHEHE 22| FY 25,422
—Jl2s 39,3003 x2%H 240 18,864
—F5d=Y 39,3003 x2H »48 3,773
—4U02E = 22,637,000 *12.3% 2,785
201 LByl 123,590 126,769 A3,179
01 AFR 22l 37,070 41,449 AN4,379
O] 35,600,000 35,600
Oz gl 1,470,000& 1,470
02 2Z223H| 86,520 85,320 1,200
O=3SYAHA 86,520,000& 86,520
202 O4dl 2,384 2,384 0
01 =LA b 2,384 2,384 0
QHIISHMelANE & &3 & N&
2,384,000& 2,384
203 HRF&H| 1,500 1,500 0
03 AIMFXAHE =& 1,500 1,500 0
QHIIS™MelAld 2 H2 =& 1,500,000& 1,500
206 M=l 2,000 6,000 A4,000
01 M=4| 2,000 6,000 A 4,000
QHIOISHEE &HxdE 22 20,000&*100 £ 2,000
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01 22E Sl 35,000 45,000 A 10,000
OHIISHMelAld I2t(& DAL EH
20,000,000 * 14! 20,000
OJIOIEMIHE Y SHEAXS AHEHHE A
29 15,000,000 * 190 £ 15,000
307 212t01& 1,086,075 916,248 169,827
05 2IRIRAES 1,086,075 916,248 169,827
QHIIZSHMelAlE 2el2F QI2t g 1,086,075
—HIISX2IAL 22t E
88,756,250 123 1,065,075
—MEHIISAAZANE 2=ENSEEIII| |X
2te| Y 1,200,000& x12& 14,400
~MEBHIISAAAY SANN SFBR B
550,000& «12& 6,600
401 Al&HIZL=ROHYI 232,600 140,000 92,600
01 Al&H| 232,168 139,460 92,708
QHIIZ2H™elAld |X2tel 147,600
—HIISHMeAE SXUS2(1001L)
50,000, 000& 50,000
—&&% 0/1&XHel(3,735m) 57,600, 000& 57,600
—OEE Y == (0h2, EH)
20,000,000& *27 2~ 40,000
OEMEd Mgz EH 39,568,000& 39,568
OMEZSZUEE MEZ2] ZAH3MA)
45,000,000& 45,000
03 AIZ=20Hl 432 540 A 108
OZMiEd MLE2 HH
40,000,000 *1.08/100 432
HOI2HMelAlE =EX&A 90,000 90,000 0
401 Al&HIZL=ROHYI 90,000 90,000 0
01 Al&H| 89,028 89,028 0
OHJIZHMelAlE =HXIA(0F2, A, &0t)
89,028,000& 89,028
03 AIZR0iHl 972 ar2 0
QHIIS2H™elAlE =&
90,000,000 *1.08/100 972
Ao L MENH SBAES(BEES/KH) 2,565,710 2,537,389 28,321
= 90, 165
= 600,000
& 209,484
= 1,666,061
e 2 MEiEtd 25 2,565,710 2,537,389 28,321
= 90,165
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= 600,000
= 209,484
i 1,666,061
SENEAES(2E204D 98,405 0 98,405
= 68,885
= 29,520
101 Q14| 98,405 0 98,405
= 68,885
= 29,520
04 JIZHMIZZ2XEE = 98,405 0 98,405
OIHIEZ ALY 98,405
— 22320 EUHL)SS2Z2 ALY
98,405,000& 98,405
=2 68,885
i 29,520
JHRE & JtR0| 38,020 35,400 2,620
101 Q1 Z4H| 13,440 12,800 640
04 J2HHMI2ISE S 13,440 12,800 640
O ogMeaN 222
33,6003 x8H x50 13,440
201 LetH] 8,400 6,300 2,100
01 AtE222/Hl 8,400 5,700 2,700
Oget=8gH| 4,500,000 4,500
Oex= 3,000, 000& 3,000
O= &l 900,000& 900
202 O4Hl 3,080 3,800 AT720
01 =LA bl 3,080 3,800 AT20
OMRst &td ItRI| RFH 3,080,000& 3,080
206 M= dl 3,000 2,400 600
01 M=l 3,000 2,400 600
OREX AEE Bl 2 H37
300,000& *5IH 2 +25 3,000
301 LprtEaag 2,400 2,400 0
10 SEALAHIEA S 2,400 2,400 0
OlHesd W= 30,000& »40H 2 2,400
303 L&z 1,700 1,700 0
01 Z&32 1,700 1,700 0
OMRe IR 58 A4 1,700
— xR 500,000 1S H 500
—R=F 300, 000& 24 & 600
—&d 200,000& *3HSH 600
307 212t01& 6,000 6,000 0
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SN-EHH . SH(BH) - HPAY - BE2 O AF o8 Gil it o Rz
CNEEESS 6,000 6,000 0
OTHRst s &IIRI| ASISHH X &
6,000, 0002 6,000
OMES 5 8,660 9,380 AT20
201 Yer2g| 2,480 2,480 0
01 AtR2elt| 2,480 2,480 0
SETIER=1 1,500,0002 1,500
osg+g 980, 0002 980
202 01t 2,680 3,400 AT20
01 =2Uloibl 2,680 3,400 AT20
OOtMSE 7H % LN o
2,680, 0002 2,680
301 LBAI 500 500 0
12 JIEt2 A2 500 500 0
OOtMSAIZ 28 A1 B&S
100, 00024 *5& 500
307 2120/ H 3,000 3,000 0
02 pIANBNBE 3,000 3,000 0
OBHEZSHE NHLXH S
150, 000! *20% 3,000
OIMES Ioh 2AXE 66,945 100,945 34,000
= 18,284
2 48,661
301 YBrBAS 66,945 60,945 6,000
= 8,284
2 48,661
12 JER A3 66,945 60,945 6,000
OZHI B E AL 60,945
—SHOMESZ QE SHES T2
60,945,0002 60,945
= 18,284
2 42,661
ORMHOFMESZ Olet QBTG 24
6,000, 0002 6,000
OFMSS TIGH I gAY 73,680 73,680 0
= 21,280
= 11,200
2 41,200
402 Q12X 0|H 73,680 73,680 0
=2 21,280
= 11,200
2 41,200
01 UAEBE 73,680 73,680 0
O2HIBEAIY 43,680
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ol ROl U MEYEY 25 (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
—OIMES2 Olst SHZ NHLXAL &
7l 43,680,002 43,680
= 21,280
= 11,200
2 11,200
OOIMSES2 I8t SXES TIHL X AlIL
30,000, 0002 30,000
Hots MEZH EHAY 2,280,000 2,317,984 37,984
=l 600,000
= 180,000
2 1,500,000
401 AEHILS ] 2,280,000 2,310,000 £30,000
=l 600,000
= 180,000
2 1,500,000
01 Al&l 2,271,792 2,301,684 129,892
OBAX AL TS| H A 880,000
—HYs MEZE T4 880,000,0002! 880,000
3 600,000
= 180,000
2 100,000
OHYs MEHZRH X4 1,391,792,000%! 1,391,792
03 Al&SOHH| 8,208 8,316 A 108
OHYs MEIRY X4
2,280,000,0002! *0.36/100 8,208
SHOHY 2 (HIBS/MEEE - £F) 3,241,445 2,369,218 872,227
= 673,563
2 2,567,682
~HSH L 3,241,445 2,369,218 872,227
= 673,563
, 2 2,567,682
s RRz 205,050 180,550 24,500
201 Y2 Y| 30,770 22,570 8,200
01 AtR2elt] 17,770 18,570 800
LIRS =1 17,140,000 7,140
SEET 630,000 630
02 ZZ2Y| 13,000 4,000 9,000
OBZRIYLMA 13,000,00024 13,000
202 01t 1,600 1,600 0
01 =UHoit] 1,600 1,600 0
OBESFA NE HY L= 1,600,000 1,600
307 212+0IH 65, 180 57,280 7,900
05 QI2t9IErz 65, 180 57,280 7,900
OZ=atza 2elsie 50, 180,000 50, 180
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& =22 d 2t CEREED
% = . dEE =
SN -ZH A (ZH) - MFAY - BES O AF K '@E% Hlw &2
Od2AS(EA) ™ 15,000, 000& 15,000
401 AlEHIZL Sl 107,500 99,100 8,400
01 Al&HI 107,122 98,470 8,652
OUHEH=SSE ot&4a 4X 10,000, 000& 10,000
Ox ez StEA 41X 10,000,000& 10,000
OJIoF EAAIE st A 2122d
30,000, 000 30,000
Osd MSAMEU ot&4 84X 34,622,000 34,622
O3F3EA N4 RFAUES
1,000, 000& 2074 2~ 20,000
O A2 =& 500,0002 *57H & 2,500
03 A&=20HYI 378 630 N252
Os4 MSAEU &4 &X
35,000,000&+1.08/100 378
Helot=HelAld Ax K& 145,457 356,000 ~210,543
= 85,563
= 59,894
402 RIZtX=01A 145,457 356,000 A210,543
= 85,563
= 59,894
01 QI2tX=2EX 145,457 356,000 A210,543
O=HIEZ ALY 145,457
—2+=XelAld &X 145,457,000 145,457
= 85,563
= 59,894
XY =25 840,000 0 840,000
= 588,000
= 252,000
401 Al&HIL2HYI 840,000 0 840,000
= 588,000
= 252,000
01 Al&HI 834,708 0 834,708
O3HIEZ AL 834,708
—ZLaHMelAE HES 834,708,000& 834,708
= 588,000
= 246,708
03 A& =CHYI 5,292 0 5,292
O=HIEZAY 5,292
—ZaMelAE HES
840,000,000& x0.63/100 5,292
=XclAlE 2el 2,022,778 1,504,508 518,270
201 YEHRHH| 277,510 272,508 5,002
01 AtR2teld] 15,500 10,500 5,000
Oggt=2ti 13,400, 000& 13,400
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I ZHR AL (BHEBES/MotxE - +H)
o2l =EEM2L (H:H2)
S EB ORI (B) - HRAIY - BAS O] &k o8 L=t HlmE2
Ol &k
OF=3=i:] 2,100,000& 2,100
02 23234l 262,010 262,008 2
OS223 XA 262,010,000& 262,010
202 O4H| 5,184 2,000 3,184
01 =LA bI 5,184 2,000 3,184
O=HelAld Ze| GRFA 2,000,000& 2,000
ONYLEs MEZR ZH2AS Y H22E
3,184,000& 3,184
207 ALY 115,000 68,000 47,000
01 A=Y 115,000 68,000 47,000
O=HMeAANMEOIEER, 2xHdeld &) 22
& 24 84 30,000,000& 30,000
O=dXNEHISAIE RQIZtRE JAIIES 29
10,000,000& 10,000
ON2HH s ASAHESE B2
75,000,000& 75,000
307 212t01H 1,395,084 912,000 483,084
05 QIZtRAEF 1,395,084 912,000 483,084
O+HANL(OIE2L, BLH2E) Q219
105,632,000& x 122 1,267,584
O£ XN EHISAIE It E
21,250,000 x6& 127,500
401 A &HIZL 2048 150,000 250,000 A 100,000
01 Al&H| 148,560 247,750 299,190
O=XcelA4d 72l 99, 100, 000& 99,100
EHIStAIE RXI2el 49,460, 000& 49,460
03 AIE=20bI 1,440 2,250 A810
O=XclAld sAl=2
100,000,000& *0.90/100 900
ElHISAIE |X&el 50,000,000 *1.08/100 540
405 KH&HFSHI 80,000 0 80,000
01 THHHESHSHI 80,000 0 80,000
OEIHIZAIE 2HEH 7L 80,000
— X (5E) 50,000, 0002 *1CH 50,000
—AIEZH 30,000,000 *1CH 30,000
XNelEs2-XHelAld 22 28,160 28,160 0
201 L2 H| 15,760 15,760 0
01 AbR2t2lH| 2,560 2,560 0
Ogt=ZH| 2,560,000 2,560
02 ZE=2ZHl 13,200 13,200 0
O=ERSYLAHA 13,200,000& 13,200
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& =22 d 2t (&9 HM
= = = e I|_-|LI;=|_||:_ =
N33 S2(3H) - MEAMY - BES (il & OH Oll AF O Hlw &2
202 04 1,200 1,200 0
01 2o 1,200 1,200 0
O2eXMelAld el BRFH 1,200,000 1,200
206 M =Hl 1,200 1,200 0
01 =4l 1,200 1,200 0
OXEs2rHelAeE 257
240,000 %55 1,200
401 AlEHIZL Sl 10,000 10,000 0
01 Al&HI 10,000 10,000 0
OXES2rHMelAE EFZA
10,000, 000& 10,000
AE - QM 2P (B2H/A S 0tA) 59,048 34,648 24,400
P A OHM 2te| 59,048 34,648 24,400
AHTRALZAIE 2 9,480 7,680 1,800
202 o4 1,680 1,680 0
01 2o 1,680 1,680 0
OAHIX AS?AM Al S 1,680,000 1,680
301 et ez 7,800 6,000 1,800
12 JIEt243 7,800 6,000 1,800
OLAHIT AZAY ZAIE ESHI
50,0002 * 10 *123] 6,000
O ZAIJ 2t 50,0003 *6 & <62 1,800
AZEIZSHA Pz 49,568 26,968 22,600
201 EH2HH| 20,000 15,000 5,000
01 AtR2teld] 20,000 15,000 5,000
Oggt=2ti 17,000, 000& 17,000
O=¢etl 3,000,000& 3,000
202 O 7,824 7,824 0
01 2o 7,824 7,824 0
OalEMAL NE B 7,824,000& 7,824
203 LR =& 1,500 1,500 0
03 AMHZ=XHRFAH] 1,500 1,500 0
O=zg Azd2e|s Al GRFA
1,500,000 1,500
206 M= dl 1,944 1,944 0
01 M=Hl 1,944 1,944 0
OUAHIAE |4 ==
1,800 * 1521 x6IH 1204 & 1,944
301 et A F 700 700 0
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B 29 A )
AE - M BRI(22/ABOIo0IH)
Sl morm Bl (sl @)
S . "M . O (5 HEAY . N2 Al OH HEE H| =2t
12 JlEt2 a2 700 700 0
O=0lal B4a3 100,000 *7H 700
401 AlEHIZ2HbI 15,600 0 15,600
01 Al&H] 15,600 0 15,600
ONEIOIASHEES A ZAIE AL
300, 000& *52JH £~ 15,600
405 Kot S| 2,000 0 2,000
01 XL SEZFHSHI 2,000 0 2,000
Osliz 0142 &I 7€ 2,000,000 *14 2,000
HY2IHU (2HZ A M) (DIEH/DIE 27,400 28,510 A1,110
ol 2IY| 4,200 4,200 0
ol 24| 4,200 4,200 0
203 ERF&| 4,200 4,200 0
04 EA2IZRFEHI 4,200 4,200 0
ORAMZZHERFAI 4,200,000& 4,200
Jl2Ztl 23,200 24,310 A1,110
Jl2Z | 23,200 24,310 A1,110
201 Let243| 11,200 11,710 A510
01 AtR2t2lH| 11,200 11,710 A510
Ogt=ZH| 11,200,000& 11,200
202 044l 12,000 12,600 A 600
01 =LHO b 12,000 12,600 A 600
ORAMSI (A, HOILL 24 )
12,000, 000& 12,000
IREsS (PN (BEES /465 - =2) 250,460 239,340 11,120
LHEHHXI= 250,460 239,340 11,120
JIEISIHE =3 50,460 39,340 11,120
701 J|IEt HEES 50,460 39,340 11,120
01 JIEfI HEE3 50,460 39,340 11,120
O=s3NTAZEAMAEESH HE3 50,460
CEZNPHASULHAN SHNNI
39,660,000& 39,660
—Ha+3S2Xeld =2 NHSsSFEX A2
900,000& = 12& 10,800
II3HES 200,000 200,000 0
702 J12HES 200,000 200,000 0
01 JI=sd&E3 200,000 200,000 0
QHIIS™MelANY =HI e XA 200,000
—=2&9H3 180,000, 000& 180,000
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